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A9 305,690 284,379 21,311
L.aSu| 5E 3 Ao AEY 297,994 278,219 19,775
1. 2 SHEE S AAY T 297,994 278,219 19,775
1.3 s AlAY = 297,994 278,219 19,775
1.8 dd= 213,845 213,845 0
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2 EAALH A Y2 84,149| 64,374 19,775 " HERAZERZN ¢ (1,482,008 > 13) 780,000
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A=A Freglolgojats ¢ S
(A Hgd)A715 ghelgd ol gt @ 2,980,000 2,980,000
X 11 =
X3 A e A BT AR ] B W
_{%oo NEFA A Y] 0 1,598,7009 X 13 1599000
AT AL ¢ 1,114,000 X 13 = 1,114,000
A 2] )] o] of v 1l & <]
RAEA)FASAd S ¢ 1,500,0008 < 1 1.500,000
ql =
S d %’&&i)& %'_]'—A '_]'-/_'\. ‘j /}j
(&@I_CT g8k sito] E A 8k 7170 4,800,000
WA : 4,800,0008 X 1ul =
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DA LA A F 0 696,090 X 131 = 697,000
A A 733 Z 294} 2 ol
jg ke () ol ¥F) 1 475,0009 X 1L 475,000
2.7]efe] M 49 7,696 6,160 1,536
1.8 038 A7kl A4 7,696 6,160 1,536
1.oEstus]Add = 7,696 6,160 1,536
LOgEstusdA-ddF 7,696 6,160 1,536| 458 4341 1,536,000 x 14= 1,536,000
2. A A 29 88,109 88,357 -248
1.8 m R 49 87,849 88,192 -343
1.7 A T4 ¢ 87,849 88,192 -343
1.52H| 48,969 48,332 637
1,544 48,969 48,332 637\ LAY FAH] ¢ 637,0009 X 14]= 637,000
2. 58 g 29,200 29,200 0
1.4 798 g5 o] 29,200 29,200 0
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4.2 4] 9,680 9,680 0
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1.olA44 100 100 0
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1.7t 4 &5 54 50 50 0
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1. AdZo| g7 7,493 7,493 0
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1.eAAY o= 7,493 7,493 0
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2. 0AY Bz 9 odrs) 3,516 2,526 990
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3. 3950t &4 300 0 300
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4. 05374 Q] 4k 690 0 690
1994 600 0 600(<2)1] 60,0009 X 10 < 13]= 600,000
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2. A B 1,026 1,026 0
1.2 v 2 u] 266 266 0
1.3 B u] 266 266 0
2.3 WAL G H] 760 760 0
12943 600 600 0
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2. AV /WS AR H A 168,897 156,611 12,286
1.5 #e 59,903 55,184 4,719
1.3 29 59,903 55,184 4,719
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1.9-fo= 1,634 1,634 0
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1.3H =20 124 124 0
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4. R AZAA 385 553 -168
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1. 05890 475 0 475 B ETAH] 95,0009 X 5%= 475,000
2.3+ 3H 4 9 A e 1,975 1,795 180
1.He=E9e 1,060 880 180

1. 4R 1,060 880 180| A7) A B 30,0009 <6704 X 1t= 180,000
2. 3714573 495 495 0
1. g9kE-1) 495 495 0
3. e 420 420 0
1. dnkg=84| 420 420 0
3. 054} a4 76,458 76,458 0
1.9240 14 37,578 37,578 0
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1.3 844+ 37,578 37,578 0
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1. AL+ A2 A 9,680 9,680 0
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1. 0589 3,590 3,590 0
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AU E -300,0009 X 14)= -300,000
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AP ERALS H] -280,0009 X 14]= -280,000
& A N -476,0009) X 14]= -476,000
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2. 998 AT Y 0 0 0
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JShal dnke-of 86,904| 84,533 2,371
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